3. HEEAMMESERER(BRGE, 1&8H - M, LS)
(B EEEER]

AEEREEBE
8 y <Y
N % % LR
© 3 :
% - o s%ﬁ
){?@% %.z
“a N 3
e i Pl i
BENEIS fmxr';’: At T
A &
A Ftm (R3. 8. 24)
% R & | IR Gm) E # A
mow 1 8| U39 ke~ TR0 E
w1 BmaEets | 50 | XSS~
o 2 8| 209k~ KA
@A m | OO s T E ~ T e
maswEHEm | 4D A BT B ~ s T

o 2 5| BD ERIEE T H~ KR T H

3 5| 2 IRLEST A~ BRI @R T A
S VNS Y B N E - ST PN G PN S
maEwA—wR OV wEm#E~—EiRmT A

( IIBAER (RS, 4. 154E)



hREOEEERONEER (M4 EEAT

<

s

LN |
“

.
Y
*

BLRIC ¥ mpn

4]

t

%

b

Gl

&S e arn || %2 ERE Erm
[ - v yp— L 6 |5 g won L
2 | R R~ xamm 10.50 || 17 Rl on 4,800
¢ s sor-mams) 800 || 19 | B 46,300
5 |HAR (FE~EH) 471,30 || 20 [&=® (Blu~A%) 43,300
o | A REEs~mxas) moo |2 [ RER oSt
1R E R e w0 || 2 AR R 4,700
8 | EE SRR 54,1981 23 | Eme ABm oD 53,100
o iR R m || | RE R SR 42.500
LR sy s || o5 | REREESSARE 68. 000
0 ||y 72,700 26 |BEEBR 55 —ER 61, 400
13 | RE g~ mi von LR 8 | ERE I 48, 500
1 R Eam~sasm a0 || 20 |RERERLT R 31,500
15 |l ($:HR~/INEE) 38,900 || 30 |HAISEHE (LE~R®) 15, 476

FST49 ORI E—T—REN




(tER = EE ]

#fwitm (R3.5.19)

o
i
iy

R
(km)

A AR

iy
=
Jio
S5

iy

DO
ajo
S5

iy
=P

(18.0)
18.0

(13.2)
13.2

(0.6)
1.8

HREE Y FTH
~FERIEE= T H

WK FRATH
~ KA T H

LRI TH
~Wi% K kT TRk

(6.9)
6.9

(18.1)
18. 1

(2.5)
2.5

WX IR 58E =T H
~HXHEH=TH
8% X7 A R T H
~HXEE=TH
WX AEMEE—TH
~HRX A EB/HE—TH

i}

pE e B M
N o
gon ao
= F

iy

(Sa]
Jio
S

iy
et
>
Jo
S5

|

i

ﬁ

i

I

Ly
s

1
v u“l[
Ihr”mm”lﬂ
B
W
b

wk

= (59.3)
at 60. 5

R Bl

FEBXR (5705 FEX)

* E +

() IFHEHIEE (R5. 4.1 BL1E)

(AL S RE i )

BAm et (R5. 1. 23)

LR
(km)

AR

Tt Tt
%~ 1
go o
O

i}

i}

(S
v~ o
g0 4o
O

iy

(@3]
ajo
S

9.2)
9.2

(4.3)

(1.8)

— S N
cOCO W W

(31.8)
31.8

(2.4)
7.6

IEFKEE TH
~/NEAEX FEIE—TH
INE ALK FFEERT .
~ T XK A
AR RS —T B
~/NEIEXEHE—T H
FH &) X & HET
~NIEEXEREDOR T H

JURESRIX M T H
~ R SR PR A LT

At

(49. 5)
54.7

() IFPHIE R (R5. 4. 1 Bi{E)

Mo Bl

FIEXRE (S5 FEX)

= ¥ i




(LE&&EE

1=}

A

2y

[EEERITELC

S i ™o T

H il
I D] B X (ST ER)
5km N W N R ¥
SEfFHE (R2. 1. 23)
B & | R Gm) B % A

w1 e &Y I mrmmm~ERESSTH
Bk 2 B | SY | KRR~ R
ok o3 B | 0D | BRI~ 7 RS T T
ko4 B EY R R TR ~ el K T
BOE 5 B M| () | RKERE~RK ROB=TH

- (25.0)

" 29.0

() IFEHERE (R5. 4.1 BiIFE)




